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(mm) yid a 13 (kg/cni)
0.5 10.0 9.5 9.75 82.45
1.0 15.0 145 | 1475 124.74
1.5 18.0 18.0 18.00 152.22
20 220 | 220 | 22.00 186.05
2.5 27.0 27.0 27.00 228.33
3.0 31.0 30.5 30.75 260.05
5.0 46.0 46.0 46.00 389.02
1.5 63.0 63.0 63.00 532.79
10.0 78.0 77.0 77.50 655.41
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31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 574.4 574.4 0.0 0.00 100.00
9.5 630.6 543.8 86.8 6.35 93.65
6.7 590.3 479.5 110.8 8.11 85.54
4.75 698.9 529.4 169.5 12.40 73.14
2.36 787.4 491.2 296.2 21.67 51.47
1.180 970.6 465.4 505.2 36.96 14.51
0.425 529.8 351.7 178.1 13.03 1.49
0.075 325.4 305.1 20.3 1.49 0
0.0 348.2 348.2 0.0 0 0
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